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l. (20%)

| Find the Thevenin equivalent of the circuit to the left of nodes A-B in Fig. lwith &=10
for (a) Ry=oc0 and (b) Ry=50k 1.
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Fig, 1
2. (15%)
For the two-port network shown in Fig. 2 find the values of R;, R;, and C, given that
the voltage transfer function is

H (s) = V,(s) 0.2

V,(s) C$ 43542

Fig. 2

3. (15%)
For the network in Fig. 3, find the value of the source voltage V which results in
Vo=5£0"V.
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4. Obtain the complete power triangle for the circuit shown in Fig.4, if the total
reactive power is 2500 var (inductive). (7%) Find the branch powers P1 and P2.
(8%)
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Fig.4

5. Measurements on a practical inductor at 10 MHz give L~ 8.0 4/ and Q, ..., = 40.

Find the ideal capacitance C for parallel resonance at 10 MHz and calculate the
corresponding bandwidth 2. (15%)

6. Obtain the dotted equvalent circuit for the coupled circuit shown in Fig.5 (7%),
and use it to find the voltage V across thel0€2 capacitive reactance (13%).
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